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e Please check that this question papercontains 8 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 30 questions.
¢ Please write down the Serial Number of the question before
attempting it.

e 15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students willxead the question paper only and will not write any answer on
the answer-book during this period.
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QT 3397 :
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UF 3% 5, @SB 7 10 397 & 578 99% & @ 31% &, @08 C 7 9 938
574 Gcdeh & @7 3% & 9T @8 D § 3 J97 8 [5778 Ic9% & Giel 3H 8 |

(iii)  PIF GHT FH-1EdHcT (3R Tieq) ITcieer 787 8 | %7 o, 2 3Pl 1t U
J97 H 8 37hl aict UH ¥IT H N 5 3H i Tyl A gl 7 o
TI7-Iaehcq 130 70 8 | 08 yv1 7 [Gensf &1 daci @b & fawheq &1 I a7
g/

(iv) T8l Y 37TFvTE &, FAC T T ARG TTH-FR 79T TYIT &7 4 FHTIHT
&l |

General Instructions :
(1) All questions are compulsery.

(it)  This question paper consists of four Sections A, B, C and D. Section A
contains 8 questions of one mark each, Section B is of 10 questions of
two marks,each, Section C is of 9 questions of three marks each and

Section D isof 3 questions of five marks each.

(iti) Theresis no overall choice. However, an internal choice has been provided
in one question of 2 marks, one question of 8 marks and all the three
questions of 8§ marks weightage. A student has to attempt only one of the

alternatives in such questions.

(iv)  Wherever necessary, the diagrams drawn should be neat and properly
labelled.
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Qus A
SECTION A
1.  ggyuTiadr gui aret foret uehaet TRt B Fy, digt | fohaq JehR o @equr&a
61 AT hi St 2 1

How many kinds of phenotypes would you expect in Fy generation in a
monohybrid cross exhibiting co-dominance ?

2. 378! IS Hal gldl UTS Sl & 2 39 I A0 I Tedq1 T 2 1
Where is good ozone present ? Why is it called so ?

3. ol uifigs 4 Scureshar & fou €= fau o1 @ afiertor § ‘R’ o= Tfeeisia ssian

22 1
GPP - R = NPP

What does ‘R’ represent in the given equation for productivity in an
ecosystem ?

GPP - R = NPP

4. Tl TH TSk H ADA-HUE hl GEAMEE © | FHHI HI3 Th H¥HI ITAR

A= | 1
A boy has been diagnosed with ADA-deficiency. Suggest any one possible
treatment.

5. Trfafaa # @ g7 98 % AT ; 1

(i) S & wee “Uftiehe=” ot 319 2 Tfushar (3fiveer) favserides gaeq |
(i) T TAE-HPEBNT 2 |

(iii)  BNa shifdehgTT Tell ol IcdTe 1M B & 2 |

(iv) T S|l 6 TRRSi 1 STUEH & gl Tehdl |

Identify the#wo correct statements from the following :

1) Apiculture means apical meristem culture.

(i1) “=Spinach is iron-enriched.

(iii)  Green revolution has resulted in improved pulse-yields.

(iv)  Aphids cannot infest rapeseed mustard.

6. 39 TR o AR & AW fofge s fadelt o 9@ a qii o 9@ o a4
o &Y H g1 8 | UHT GLIST I AT gl AT 8 ? 1
Name the type of evolution that has resulted in the development of
structures like wings of butterfly and bird. What are such structures
called ?
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7. U UHl @Rt IRe (IUD) 1 9 foafen faees gema o9 safeie § aehd
& fop muterr sften spemrogstt & fore wfdeer &1 S | 1

Name an IUD that you would recommend to promote the cervix hostility
to the sperms.

8. = & TS Heel § 9, I & Mu=H-gd i geA §, hen ; 1

JHBHAT, THbSH, YO, T

Write the two pre-fertilization events from the list given below :
Syngamy, Gametogenesis, Embryogenesis, Pollination

Qus B
SECTION B

9. YHIRMEI § 3d:I94 &l Hawd 9T | 2

Explain the importance of inbreeding in cattle.

10. g9 ¥ G&l S o (08 36H WA /T AR STl 8 ? FHATST | 2
Why is ‘starter’ added to set the milkiinto curd ? Explain.

11. T 3G od gU AHeisy foh TgAlfoem &= aidl 2 | 2
Explain commensalism, with the help of an example.

12, Safafayan g1 o 9’ e 6l g ff | 2

Fuan
3k URadeh, HESEdrTal fohT S aTel g a1gsfi @ 9 foiRaw | wiewor =i
T W@ U 3 fhY TR H8rar &id & ? 2

List four causes of biodiversity loss.

OR

Name two metals used in a catalytic converter. How do they help in
keeping the environment clean ?

13. forae @ st hl HHA 1 fomr i ST I 3 | gHEse fo Y ger
fore TR foram SmaT 2 | 2

Banana crop is cultivated by farmers without sowing of seeds. Explain
how the plant is propagated.
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14. "Ha AT o 37 i 9rm & am fafegy 96 @ gian gan sver 9 d
TAdT JATAT 8 96 o = 3 SHeh! W IRV A & &1 I | 2

List the different parts of the human oviduct through which the ovum
travels till it meets the sperm for fertilisation.

15. DNA 1 fehfd sl W T 3TRE T GRST, | 2
Show DNA replication with the help of a diagram only.

16. et T Tgoieh o1 AW fafaw R 359 I 84 W AFa IR H R
HFfsha gt 7, fafem | 2

Name an allergen and write the response of the human boedy when
exposed to it.

17. T T 91 | Toh arerd (Fowmy) s TshHvT &1 T30 B ST SRRH-Hth 37T
Gl ol ITH i <hl ek foIfer =h1 9 foIfaw 37X 39eh famg o gw=msu | 2

A potato plant is infected with a virus. Name®and explain a method to
obtain virus-free potato plants from it.

18.  WINGSTHT 3R Wi A = 37vel o @ig. MY 1 S5 a1 foafe s 3=
AT IR O U4 a7 I9Te fIRau | 2

Write the scientific name of the source plant of the drugs, marijuana and
hashish and mention their effect'on the human body.

@us C
SECTION C

19. U S&Ul SEIE 93 1 THIhd 3@ AR | 3
YT
(a) Ta=fcafga Qo & IcoseRal Siei & 9 fdfgu -

(i) wflug
(i) <g (d=)
(iii) Tifefa

(b) 3E YPR & UM & 0 § Greiives TW@red & 58 YR 98&h &l
Tehdl B ? 3
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Draw a labelled sketch of a typical biogas plant.
OR

(a) Name the causative organisms for the following diseases :
(i) Elephantiasis
(i1)) Ringworm
(ii1) Amoebiasis

(b)  How can public hygiene help control such diseases ?

20. U IR QAT H HAT T H, HoH HR 9G¥ad g IFeh Hd IWLUMY 7Y
fSTeRT U8=MT ST 3Tcdd shidgd o1 | SE dehdleh bl A8 fARgu wa '3y fasg |
TresT TEehl FerIar & TR Ha SHi hl TgaH L Heb N I 3T
HIH-3T AR ! |9 &b | 3
Following a severe accident, many charred-disfigured bodies are
recovered from the site making the identification of the dead very
difficult. Name and explain the technique thatiwould help the authorities
to establish the identity of the dead to be ‘able to hand over the dead to
their respective relatives.

21. (a) SIUe 7Y %ad & 2 I8 fhE UHR w1 Hidl g ?
(b)  HHId: SEAHTA T ST STl @1 SRITUFel o 9 faiiauy | 3

(a) What is a bioreactor? How does it work ?

(b) Name two commoiil%r— used bioreactors.

22. UH IUYTH IETET o BOEHEST, foh SgSil SIRIMIId &1 BId 2 | 3

Explain polygenieinheritance with the help of a suitable example.
23. Ul UTey q IWk 39 W %1 AW foiRanw S gemsermsT shiEer dshihd

AT & | NI HTET | ds-RNA % 3cUTeH H F75/72) A hl Y[Heh! THesy | 3

Name the host plant and its part that Meloidogyne incognita infects.
Explain the role of Agrobacterium in the production of ds-RNA in the
host plant.

24, fereh glafrem (o) g d Fefaiaa % 9 S w0 Tam 3R St
Iftrert & fIwT & e AISHT 3TR@ ht TERIAT T THLATST 3
1T (IATH), TTEHTCH S, b |

With the help of a schematic diagram, explain the location and the role of
the following in a transcription unit :

Promoter, Structural gene, Terminator.
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25. WA 4 ZIGBT W Hg fgHRt Thul AU 3T TR foh Fo-3T9Td TeaTara
Heoly TUTd | 9gd ¥-174 3T | Th I 1 HERIa1 § I5eh! 37 @il
forar o wwsmsy | 3

Morgan carried out several dihybrid crosses in Drosophila and found
Fy-ratios deviated very significantly from the expected Mendelian ratio.
Explain his findings with the help of an example.

26. TSI H YUY o GHGEH T JUH HIT | 3

Describe endosperm development in angiosperm.

27. MThl S o HB AR 3 FeEE v % U $B.8R YW 9™
STTEITReh/=ATaTeh fshamehetTy TTiya R & SiE fob forshfafomi SRR ae
T UM & g N8 fau 38 Tratfaes sTfespigiie “&s gt 1=
TiéMpehe 7ol o @ 9 |
T Y UH fohamhamdl T THYH U ? AU B b U H ki i HRO
ERIE 3
A few residents in your locality, for business gains, have established
small-scale industrial / commercial activities such as pathological labs

and fabric dyeing centres without obtaining ‘No objection certificates’
from municipal authorities.

Would you support these activities ? Give any three reasons in support of
your answer.

Q@ vs D
SECTION D

28. (a) Torefi oy oG H HEHRE <EHUI o Uh Tcihd Hisd ol NG

SRT |
(b). IR H S5 ThR o <shi ol Had [T | 5
AYAT
(a) SafafaYdT o TI&0T o Y& H 3Teqd: IUINH, SAT9ehd: ITANN e Afdes
Teh 1§, THHATST, |
(b) P Ffvea =i w1 “Aferereti” i w51 o Safafagdr @aw $ s
Ueh sheH 991 hal Sl & 2 WA & fohral ol AfEee o A fafgu | 5
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(a) Draw a simplified model of phosphorus cycling in a terrestrial
ecosystem.

(b)  Write the importance of such cycles in ecosystems.

OR

(a) Explain the narrowly utilitarian, broadly utilitarian and ethical
arguments in favour of conservation of biodiversity.

(b) How is designation of certain areas as hotspots a step towards
biodiversity conservation ? Name any two hotspots in India.

29. (a) TR H TH Sd NY oo S w1 @d 7 (GHT > o fowgresh) =
A % U a4 g 98 9%g B A &, o A1 HhWl HUAT T |
TTeh! TAM o SIFUEY qAT ALUET 3k STATq1 Higd (G |
(b)  3H! YhR o TRVl I a1 M ATl 9 fOIRgU i) 36eh! Hewd st | 5

HAAAT

TS hl JfshaT FHAET | 5

(a) Work out a cross between a tallgpea plant bearing violet flowers
(heterozygous for both) withsa “dwarf pea plant having white
flowers. Write the genotypes and phenotypes of the progeny along
with their ratios.

(b)  Name such a cross and:state its importance.

OR %
Explain the process of translation.
30. WAl H YERIISHAESATS sl ATSHI TG H GG G4 I7h T H THATIT | 5
Jrerat
STasTs. B IWARTIER & Thd 7, ATHICI-WFON &l Hehd & a1 I
- YT (3TCH-STETAT) & Hebcll 8 | $9H ¥ Ycdeh o (ST 0N <1 vl
HIE, 3R FaET foh 90 & HH-8 Th THR 5 A HAW: AT al

SIS hl SGMaT od & | 5
Schematically represent and explain the events of spermatogenesis in
humans.

OR

Angiosperm flowers may be monoecious, cleistogamous or show
self-incompatibility. Describe the characteristic features of each one of
them and state which one of these flowers promotes inbreeding and
outbreeding respectively.
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